C:# Finding Quadrant based on Coordinates Name:

Deter mine which quadrant each pair of coordinateswill bein. Answers
=3 4 1 2
< g .
v 2. -
Ex) (-3,-11) (3,-11) (3,11) (-3,11)
3' —_—
4. _
1) (-12,15) (12, 15) (12, -15) (-12,-15)
5' —_—
2) (-3,-16) (-3, 16) (3,-16) (3,16) e
7‘ —_—
3) (5,-14) (5, 14) (-5, 14) (-5,-14) & __ _
°®.
4) (19,14 (-19, 14) (19, -14) (-19, -14) . ___
5 (-8, 20) (-8, -20) (8, -20) (8, 20)
6) (-12,-4) (-12, 49) (12, -4) 12,4
7) (17,-14) (-17, 14) (17, 14) (-17, -14)
8) (-9, -20) (9, -20) (9, 20) (-9, 20)
9 (8,7 8,7) 8,-7) (-8,-7)
10) (20,-11) (-20, -11) (20, 11) (-20, 11)
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ﬂh Finding Quadrant based on Coordinates Name: Answer Key

Deter mine which quadrant each pair of coordinateswill bein. Answers
x3 4 1 2
) ’ 1 2 1 4 3
v 2. i i i i
EX) (-3,-11) (3, -11) (3, 11) (-3, 11) L 412 3
. 1 2 4 3
1) (-12,15) (12, 15) (12, -15) (-12, -15)
5. 2 3 4 1
& 3 2 4 1
2) (-3,-16) (-3, 16) (3, -16) (3, 16) — T
74 2 1 3
3 (5,-14) (5, 14) (-5, 14) (-5, -14) e 3 4 1 2
9. 2 1 4 3
4) (19, 14) (-19, 14) (19, -14) (-19, -14) w4 3 1 2
5) (-8, 20) (-8, -20) (8, -20) (8, 20)
6) (-12,-4) (-12, 4) (12, -4) (12, 4)
7) (17,-14) (-17, 14) (17, 14) (-17 , -14)
8) (-9,-20) (9, -20) (9, 20) (-9, 20)
9 (8,7 8,7 8,-7) (-8,-7)
10) (20, -11) (-20, -11) (20, 11) (-20, 11)
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